Card Set C: Descriptions of the wheels

Diameter of wheel =40 m
Height of axle above ground = 60 m

Number of turns per minute = 2.5

2.

Diameter of wheel =60 m
Height of axle above ground = 60 m

Number of turns per minute = 2.5

Diameter of wheel = 60 m
Height of axle above ground =40 m

Number of turns per minute = 2.5

Diameter of wheel =60 m
Height of axle above ground =40 m

Number of turns per minute = 3

Diameter of wheel =40 m
Height of axle above ground =40 m

Number of turns per minute = 3

Diameter of wheel =40 m
Height of axle above ground = 60 m

Number of turns per minute = 3

Student Materials

Ferris Wheel
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